98.6

25
BCD
C ) (E+H)/A
13| 12,039 11,863 2 of 61 104 4 98.5| 0.5
14| 11,741 11,603 1 8| 45 84 2| 98.8] 0.4
15| 11,034/ 10,874 9| 45 106 3| 98.5| 0.4
16| 11,085 10,913 2 3| 46 119 2 3| 98.4] 0.4
17| 10,450| 10,306 1 5| 54/ 84 98.6| 0.5
5,338 5,249 1 al 38 46 98.3| 0.7
5,112| 5,057 1 16| 38 98.9| 0.3
159 159 100.0
10,201 10,147 1 5| 54 84 98.6| 0.5
17 10,450 635 5.7
5,338 361 6.3 5,112
274 5.1
10,306
54 84
25 106 107
10,306 5,249 5,057 607
5.6 9,591 93.1
312 3.0 325 3.2 40 0.4
38 0.4
117 10 9.3 1.1
26 106 107
98.6
98.3 98.3 98.9 98.6
21 12




26

13 11,863 11,091 377 34 312 49
14 11,603 10,863 311 45 322 62
15 10,874 10,182 310 32 307 43
16 10,913 10,158 333 44 328 50
17 10,306 9,591 312 40 325 38
5,249 4,817 147 16 243 26
5,057 4,774 165 24 82 12
27
98.8 98.3 99.3 96.8
98.8 98.4 99.1 96.8
10 98.6 98.3 99.1 96.8
11 98.5 98.2 98.9 96.9
12 98.7 98.3 99.2 97.0
13 98.5 98.2 98.8 96.9
14 98.8 98.7 99.0 97.0
15 98.5 98.4 98.7 97.3
16 98.4 98.3 98.6 97.5
17 98.6 98.3 98.9 97.6
12
100.0
99.0 | 98.9
98.6
98-0 98-3
97.6
97.0
96.0 F
95.0
94.0 t
93.0

H8 9 10 11 12 13 14 15 16 17



54 10.2
38 16
29 22
0.5 0.3 0.1
51 94.4 28 13
28
84 82 97.6
94 90 95.7
10 78 75 96.2
11 66 63 95.5
12 60 55 91.7
13 65 62 95.4
14 47 44 93.6
15 48 45 93.8
16 49 46 93.9
17 54 51 94.4
13

13

14

15

16

17

54

107 109



